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• There is to be no collaboration on any aspect of developing and presenting your proof. Your only
resources are: you, the course textbook, me, and pertinent discussions that occur during class.
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• Retry: Start over using a new sheet of paper.
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The perplexity of life arises from there being too many interesting things in it for us to be interested
properly in any of them. – G. K. Chesterton, 1909

R-1 (You may use material up through Section MR)
Let U, V be vector spaces and T : U −→ V a linear transformation.

1. Let {~c1,~c2, · · · ,~ck} be a basis for R (T ) ,the range of T and for each i, 1 ≤ i ≤ k let ~bi be a vector in
T−1 (~ci), the preimage of ~ci.

Prove that the set
{
~b1,~b2, · · · ,~bk

}
is linearly independent in U .

2. Consider the specific linear transfomation T : C3 −→ C3 given by T (~x) = A~x where A =

 1 2 3
4 5 6
7 8 9


(a) Use the ‘L’ matrix of the extended–echelon form for matrix A to find a basis Q = {~c1, · · · ,~ck}

for the range of T.

(b) Extend this set to a basis C of the codomain C3 by ”adding” appropriate additional vector(s).

(c) For each vector ~ci in S, compute a vector ~bi in the preimage T−1 (~ci) and collect these vectors
into a set P .

(d) Compute a basis for the kernel of T , K (T ) and let B be the union of this set and the set P .

(e) Cite a theorem from the text whose proof shows that B is a basis for the domain of T .

(f) Compute the matrix representation MT
B,C .
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